Chapter 22 Class Problems 
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Parameter


Hypothesis





Assumptions









Name the test


Test Statistic









Obtain p-value


Make decision


State conclusion in context







Suppose that early in an election campaign, a telephone poll of 800 registered voters shows that 460 favor a particular candidate. Just before election day, a second poll shows that 520 of 1,000 registered voters now favor that candidate. Give a 99% confidence interval for the difference in the percentage favoring that candidate in the two polls.

Parameter


Assumptions







Name 


Interval
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Conclusion in context
image7.jpeg
00T

(26)(80)

_—— 5 Y

To-s800 ~2Jd T @

—le

00¢

(z6)(80)
T0 - 800 “ZjdC (@

002

(26)(80) ‘
T0 -3800 ~%d T )]

00T
©0I0/

T0-g00 “*fd ¢ @

00¢

(6'0)(10)
T0-3800 z|ld - T (V)

{1591 91} 10J InjeA-d 1991109 37 ST SUWIMO[OF 9Y) JO YOIyAY "podueyo
sey sguuds 9An09Jop jo uwoniodoid o) ISYIOUM SUIULISOP O} IOPIO UL JNO PALLIBD
s1 389} douedyrudis speudordde sy7, “oAnoeyep are ojdures oy wr sgurids oy jo 9 JBY
punoy st 3t pue pajoa[as st sgutids (g Jo ojdures wopuer e ‘Surgoewr 3y} 0} sjusuUnsnipe
SWIOS I3V '9ATIOSJAP Ik suryorw 9y} Aq paonpoid sSurids sy Jo 94,01 Jey) punoj usaq
sey 31 swy Jo poudd Suo] & 1A "sp1] Iandwos Jo3 sFunids [ezowr ssonpoid surgorw v g




image8.jpeg

image9.jpeg
3. A simple random sample of 100 families living
in rural areas in the state of Indiana indicated
that 40% of the families watch a certain TV
show regularly. A simple random sample of 50
families living in urban areas in Indiana indi-
cated that 43% of these families watch the same
TV show. Do these data support the claim that
urban families prefer this show more than rural
families at the 5% significance level?
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18. Amos Tversky and Thomas Gilovich, in their study on the “Hot Hand” in bas-
ketball (Chance, Winter 1989, page 20), found that in a random sample of
games, Larry Bird hit a second free throw in 48 of 53 attempts after the first
free throw was missed, and hit a second free throw in 251 of 285 attempts after
the first free throw was made. Is there sufficient evidence to say that the prob-
ability that Bird will make a second free throw is different depending on
whether or not he made the first free throw?

(A) P<.001, so this is very strong evidence that the probability that Bird will
make a second free throw is different depending on whether he made the
first.

(B) Pis between .001 and .01, so this is strong evidence that the probabilities
are different.

(C) Pis between .01 and .05, so this is moderate evidence that the probabil-
ities are different.

(D) Pis between .05 and .10, so there is some evidence that the probabilities
are different.

(E) P > .10, so there is little or no evidence that the probabilities are
different.
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